
Klapptest zum Thema: Nullstellenberechnung 

Name:  

 

 

 

Aufgaben Lösungen 

1.) 9)( 3
1 +−= xxf  )0|27(N  

 

2.) 16)²2()( −−= xxf  )0|2(1 −N )0|6(2N  

 

3.) 32²)( −−= xxxf  )0|1(1 −N )0|3(2N  

 

4.) 3618²2)( −−−= xxxf  )0|6(1 −N )0|2(2 −N  

 

5.) 135²)(
2
1 −+−= xxxf  nNullstelleKeine  

 

6.) xxxxf 4
3²³)( −−=

 
)0|75,0(1N )0|0(2N )0|(

2
1

3 −N  

 

7.) 4022²³)( +−−= xxxxf  )0|2(1N )0|5(2 −N )0|4(3N
 

 

8.) 
2
1

4
1²2³)( +−+= xxxxf  )0|2(1 −N )0|( 2

1
2 −N )0|(

2
1

3N  

 

9.) 4²4³)( +−−= xxxxf  )0|1(1N )0|1(2 −N )0|4(2N  

 

10.) 3210)( 24

2

1 +−= xxxf  
)0|4(1N )0|4(2 −N  

)0|2(3N )0|2(4 −N  

 

11.) 56)( 24 +−= xxxf  )0|5(1N )0|5(2 −N  

)0|1(3N )0|1(4 −N  

 
 


